Reg. NO. : cvrreerererrerenrerensesesensenes Code No. OS 9031

NAINE 2 euoernenenseenessessesensessessessrses OLD SYLLABUS
Time : 2 Hours
[ Second Year — March 2018 ] Cool-off time : 15 Minutes
Part — III
PSYCHOLOGY

Maximum : 60 Scores

/Geneml Instructions to Candidates : \

e There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.

e You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.

e Use the ‘cool-off time’ to get familiar with questions and to plan your answers.

e Read questions carefully before answering.

e All questions are compulsory and only internal choice is allowed.

e When you select a question, all the sub-questions must be answered from the same
question itself.

e Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

e (Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Name the Psychologist who devised the term Intelligence Quotient (1Q). (Score :

(a) William Stern (b) Wilhalm Wundt

(c) William James (d) B.F. Skinner

Identify the Psychologist who began the study of gifted individuals. (Score
(a) Wechsler (b) Pavlov

(c) Terman (d) Stern

Rahul is an intelligent and hardworking boy. But when he is requested to do group

tasks, he put less effort than others in the group. Identify the process. (Score :
(a) Social conformity (b) Social loafing

(¢) Social influence (d) Social facilitation

Identify the term represent the degree of ‘we feeling’ present in a group. (Score :
(a) Attractiveness (b) Cohesiveness

(c) Competition (d) Similarity

We usually consider our own group better than the other one. (Score :

Identify the kind of bias involved.
(a) Self-serving bias (b) In-group bias

(c) Beliefin a just world (d) Accommodation

Analyse the following situations and identify the behavioural component of attitude.

(Score :

(a) Rajeev believes that globalization is not good for India.
(b)  Vishnu joins the writers forum to protest against cruelty towards animals.

(c) Krishna is furious with his friend for borrowing things from him and not
returning them on time.

Identify the psychological stress among the following : (Score :
(a) Daily hassles (b) Hostile neighbours
(c) Frustration (d) Flood
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10.

11.

12.

13.

14.

15.

Identify the behavioural therapeutic technique used in the treatment of phobia. (Score : 1)

(a) Token Economy (b) Biofeed back

(c) Systematic desensitisation (d) Aversion therapy

A school counsellor has different functions or roles to perform. Identify the one which

is not considered as his/her role.
(a) Guidance (b) Psychotherapy
(c) Referral (d) Counselling

Name the psychologist who proposed a psychological analysis of poverty.
(a) Sinha (b) Maslow

(c) Jung (d) Pareek

Identify the first stage of an interview.

(a) Question-answer stage (b) Warm-up

(c) Close stage (d) Analysis stage

Identify bar diagram from the following :

SIP R VAN
(c) /\ (d) dﬂ

Write a short note on personality structure by Sigmund Freud.

Explain self actualization theory of personality.

Identify and explain different types of groups.
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25.

26.

Explain the ways by which attitudes are formed. (Scores :

Kiran could not face stressful situations and tries to run away in such situations. Name

the sort of coping does he use. Explain briefly. (Scores :

Discuss about any two behavioural disorders specific to childhood years. (Scores :

Write a brief note on classification of psychological disorders proposed by

APA. (Scores :
Explain briefly about rehabilitation of mentally ill. (Scores :
Write a short note on different spheres of guidance. (Scores :
Discuss briefly on the impact of media and communication revolution. (Scores :
Counselling process consists of three stages. Explain. (Scores :
Write a note on different types of correlation. (Scores :
(a) “Intelligence is not a single ability, there exists multiple intelligences.” Analyse

(b)

(a)

(b)

OS 9031

the above statement and justify your answer with the help of multiple

intelligence theory. (Scores :

OR

Explain triarchic theory of intelligence. (Scores :

Discuss about strategies or initiatives for promoting pro-environmental

behaviour. (Scores :
OR

Discuss about major environmental stresses and their effects on

behaviour. (Scores :
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Code No. OS 9043
NAIME © ccceeeeeereeerenenereeeneeeeeenanenenens OLD SYLLABUS
Time : 2% Hours
{ Second Year — March 2018 } Cool-off time : 15 Minutes
Part — III
ENGLISH LITERATURE

Maximum : 80 Scores

General Instructions to Candidates : )
® There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2% hrs.
® You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.
® Use the ‘cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® All questions are compulsory and only internal choice is allowed.
® When you select a question, all the sub-questions must be answered from the same
question itself.
® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
- J
1. “This is my son, Mine own Telemachus,
To whom I leave the sceptre and the Isle”
(a) Identify the poem and the poet. (Scores : 2)
(b) Why does the speaker want to leave everything to his son ? (Scores : 2)
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2. “When will the bell ring, and end this weariness ?
How long have they tugged the leash, and strained apart
My pack of unruly hounds.”
(@) Who does the poet call “my pack of hounds” ? Why ?
(b) Explain the figure of speech employed in these lines.

3. Three years she grew in sun and shower,
Then nature said, “A lovelier flower
On earth was never sown;”
(a) Name the person described in these lines.

(b) What did nature do to that person ?

4.  “Father, when he passed on,
left dust
on a table of paper
left debts and daughters”
(a) List two other thing left by the father.

(b) Comment on the expression ‘debts and daughters’.

(Scores :

(Scores :

(Scores :

(Scores :

(Scores :

(Scores :

5. Narrate how Ali the Blest in the story ‘A Young Turkish Catastrophe’ won the

elections.

6.  Write a paragraph on the friendship between Jesse Owens and Luz Long.

7.  Prepare a character sketch of John Harcourt in ‘The Snob’.

8. Describe the miseries suffered by Ramsa Patil to help Shiva.

9.  Write a summary of the story ‘The Canterville Ghost’.

10. How does Bernard Shaw prove that autobiographies are lies ?
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11.

12.

13.

14.

15.

Explain the role played by Louka in ‘Arms and the Man’. (Scores : 5)

Discuss the title of the novel ‘Lord of the Flies’. (Scores : 5)

Write an essay on Shaw’s treatment of love, marriage and war in the play ‘Arms and
the Man’. (Scores : 8)

In ‘Lord of the Flies’, Golding states that man is evil by nature. Critically analyse the
novel in the light of the above statement. (Scores : 8)

Attempt a critical appreciation of the poem given below taking into consideration the
theme, tone, rhyme, poetic devices etc.

What is this life, full of care,

We have no time to stand and stare

No time to stand beneath the boughs

And stare as long as sheep or crows.

No time to see, when woods we pass,

Where squirrels hide their nuts in grass.

No time to see, in broad daylight

Streams full of stars, like skies at night.

No time to turn at Beauty’s glance,

And watch her feet, how they can dance.

No time to wait till her mouth can

Enrich that smile her eyes began.

A poor life this is, if, full of care,

We have no time to stand and stare. (Scores : 8)
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D assssssssessussmmsssssssssssssssen Code No. OS 9044
OLD SYLLABUS

[ Second Year — March 2018}

Part — III
COMMUNICATIVE ENGLISH

Maximum : 60 Scores

Time : 2 Hours
Cool-off time : 15 Minutes

General Instructions to Candidates : R
® There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.
® You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.
® Use the ‘cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® All questions are compulsory and only internal choice is allowed.
® When you select a question, all the sub-questions must be answered from the same
question itself.
® Electronic devices except non-programmable calculators are not allowed in the
\_ Examination Hall. )
1.  Mohan went to a cake shop to order a cake. Write down the conversation between him
and the shopkeeper.
Mohan : I wish to
Shopkeeper : Please select
Mohan : I think (Scores : 3)
2. Your friend qualified in the Civil Service Examination. Send him/her a greeting card
message. (Scores : 4)
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3.  Anju is writing a story for the school magazine. A few sentences from the story are
given below. Read it carefully and edit it.

Ganesh was a young boy who live in Mumbai. He wanted to become an engineer. But
his father could not made enough money for get him an admission. (Scores : 4)

4.  You are a graduate interested in journalism. You come across an advertisement in a
daily. Prepare a job application and C.V. based on the given details.

WANTED JOURNALIST
Graduate in Journalism, below 30 years, Experienced hands preferred.
Attractive salary, free furnished quarters. Apply with CV within 10 days.
The Daily Mirror

Bangalore

OR
Write a letter to the editor of a daily about the high rate of drug abuse in your locality.
(Scores : 6)

5. Read the poem carefully and answer the questions :
Mother Earth and Father Time are walking hand in hand.

They’re visiting their children and checking on their land.

They view the worlds destruction everywhere they turn.

They fear their precious children are never going to learn.

“This earth should be their playground with joys beyond belief

yet, all these children seem to know is senseless pain and grief.”

“How do we teach our children to care for such a place ?

They may not get the message till we slap them in their face.”

The children are oblivious to even basic rules.

That’s why so many people grow up looking like such fools.
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(a) Why do mother earth and father time walk around ?

(b) What do they see around ?

(¢) According to them, how should the children use the earth ?
(d) What should the parents do to give them the message ?

(¢) Why do many people look like fools ?

(f) Choose the meaning of the word ‘oblivious’.

(unwilling, unaware, unsympathetic) (Scores : 6)

6.  The nature club of your school is organizing an essay writing competition on world
environment day. Prepare an advertisement to be published in the school notice board.

(Scores : 4)

7.  Read the following paragraph and answer the questions :

The internet is the biggest world-wide communication network of computers. It
has millions of smaller domestic, academic, business and government networks, which
together carry many different kinds of information. The term is sometimes abbreviated
as “the net”. The internet was developed in the United States. The most used service on
the internet is the World Wide Web (which is also called the “Web”). The second
biggest use of the internet is to send and receive e-mail. Some governments think the
internet is a bad thing, and block all or part of it. For example, the Chinese government
thinks that Wikipedia is bad. Some parents block parts of the internet they think are bad
for children to see. Well-know examples of the whole internet being blocked are in
North Korea and Myanmar.

(a) What is internet ?

(b) List two uses of the internet.

(c) Why do some parents block the internet ?
(d) What is the abbreviation of internet ?

(e) Name two countries where the internet is blocked completely. (Scores : 5)
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8. On road Safety Day, your teacher asks you to write an essay on the increasing accident
rate in Kerala. Prepare the essay in not more than 100 words.

OR

Prepare a newspaper report with the help of the hints given below :

Boy saves friend from drowning

Six-year-old girl fell into river

7-year-old boy given bravery award

(Scores : 6)

9. Your parents offered to buy a new mobile phone for you. Describe the kind of phone
you want. (Scores : 5)

10. Raghu, your friend, is very lazy and wastes his time. Give him three pieces of advice.

(Scores : 3)
11.  Write the phonemic transcription of the following words :
(a) Engine
(b) Shell
(c) Sad
(d) Book
(e) Cat (Scores : 5)

12. You are anchoring a film award show on the television. Write an introduction with
which you will open the show. (Scores : 4)

13.  On your way to school, you witnessed an accident. Narrate the incident to your friend.

(Scores : 5)
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INAINE © ceverrereneeceeneecesensssesssssssasens OLD SYLLABUS
Time : 1% Hours
[ Second Year — March 2018 } Cool-off time : 15 Minutes
Part — III
MUSIC

Maximum : 40 Scores

/ General Instructions to Candidates : \
e There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 1% hrs.
e You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.
Use the ‘cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from the same
question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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10.

11.

12.

13.

14.

15.

16.

Among the 72 mela ragas the 15™ mela raga is

The charana of the musical form ‘varnam’ is also known as
Example for Wind instrument.

Select the bhashanga raga.

(a) Mohanam (b) Bilahari
(c) Hamsadwani (d) Mayamalavagaula

Name the variety of the ‘varnam’ which is used in dance concerts.

Select the Sruti vadyam.

(a) Tampura (b) Violin

(c) Veena (d) Nadasvaram
A branch of manodharna sangeetha.

(a) Gitam (b) Ragalapana
(c) Svarajati (d) Kirtana
Give the angas of the musical form ‘kirtana’

What are the instruments used in kathakali music ?

Write the important characteristics of folk music.

Classify stringed instruments with examples.

Write short note on upanga and bhashanga ragas. Give example for each.

Write the lakshanas of the raga ‘Chakravakom’.
Describe the distinctive features of Indian music.

Give short note on ‘Vocal concert’.

(Score :
(Score :
(Score :

(Score :

(Score :

(Score :

(Score :

(Scores :
(Scores :
(Scores :
(Scores :
(Scores :
(Scores :
(Scores :

(Scores :

Give a brief description on the life and contribution of Sri. Swati Tirunal in the field

of music.
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1. Which of the following is not true in the case of controlling ?
(a) Planning and controlling are closely related.
(b) Planning cannot be performed without controlling.
(c) Planning is useless without controlling

(d) Controlling provides feedback. (Score : 1)

2. Which of the following is included in promotion mix ?
(a) Grading (b) Branding

(c) Personal Selling (d) Packaging (Score : 1)

3. Which of the following principle of management emphasises that the superiors should

be impartial while dealing with subordinates ?
(a) Order (b) Equity

(c) Discipline (d) Division of work (Score: 1)

4. Which of the following management function harmonasis the activities of different

departments of an organization ?
(a) Planning (b) Organisation

(c) Co-ordination (d) Controlling (Score : 1)

5. There are different types of plans in an organisation. ‘Promotion is based on ability

only’ is an example of

(a) goal (b) objectives

(c) policy (d) rule (Score: 1)
OS 9048 2
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10.

11.

Which of the following is not a consumer responsibility ?

(a) Insist on cash memo (b) Quality concern

(c) Over reaction to advertisements  (d) Seeking redressal (Score :

Dividend is a part of profit of a company. Which of the following statement is true in

respect of dividend decision ?
(a) Larger dividend result in larger retained earning.
(b) Larger dividend result in less demand for shares.

(c) Larger dividends can decrease share price in the market.

(d) Larger dividend payments results in small funds for expansion. (Score :

According Maslow’s theory, human needs can be organised in an hierarchical order.

With the help of diagram, show the hierarchical arrangement of human needs.

(Scores :

Mrs. Sheena, the HR Manager decided to impart training to the employees of her

company in such a way that, it will help in developing integrated knowledge of the

organisational functioning. Which method of training is suitable here ? Why ? (Scores :

The aim of ‘organisation’ is to enable people to work together for a common purpose.

What are the steps involved in it ? (Scores :

Mr. Udayakumar, the CEO of ‘Udaya Ltd.” wants to concentrate more on the

expansion of the business. What is the best option available to him ? Justify your

answer. (Scores :
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12.

13.

14.

15.

16.

17.

18.

“Objectives work as the nucleus to the planning process.” Do you agree ? Explain.

(Scores :

Ms. Prajisha owns paper certificate for 1000 shares of a company. What she has to do

in order to fit the same for trading in the share market ? Explain the process involved

in it. (Scores :

In a classroom debate your team argues that ‘management is a science’. What are the

specific reasons that you can raise to establish your argument ? (Scores :

A firm produces 4 varieties of products and it has separate production managers,
marketing managers and H.R. managers for each products. What type of organisation

structure prevails in this firm ? Draw the diagram indicating the structure referred

here. (Scores :

Mr. Hareesh is the advertising manager of a firm. What are the factors that he has to

consider while selecting a media for advertising for his firm ? (Scores :

Controlling is concerned with measurement and correction of performance of

2)

3)

3)

4)

4)

activities. What are the significance of this process in an organisation ? Explain.(Scores : 4)

Eventhough effective communication is the desire of every organisation, some factors

work as barriers to it. Analyse those factors. (Scores :

OS 9048 6
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13.

14.

15.

16.

17.

18.
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19.

20.

21.

22.

23.

24.

Primary market is the market where corporate bodies offer fresh securities to

investors. Explain the various methods of raising funds from primary market. (Scores : 4)

Consumers ought to be aware about their rights, in order to enforce it. Explain the
important consumer rights that the consumers must be aware in order to safeguard

their interest. (Scores : 5)

Mr. Sarath is planning to establish an industry in his village. Help him by suggesting

the broad environmental factors that he has to analyse before launching the industry.

(Scores : 5)

Mr. Usman Khan, who is specially trained in the application of scientific management
principles, has been appointed as the new manager of a poor performing firm. How do

the new manager can revive the firm by applying the principles that he has learnt ?

(Scores : 5)

Ms. Anoopa is an H.R. manager of a company. She wants to motivate the employees
by satisfying their social and esteem needs. What type of incentives she has to adopt

in her firm ? What are its different methods ? (Scores : 6)

(a) Capital structure refers to the mix of different sources of funds. What are the

essential features of an appropriate capital structure ?
Why some firms are over capitalised ?
OR

(b) What are the broad decision areas of a financial manager ? Explain the two

broad approaches that he/she can adopt to business finance. (Scores : 8)
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25. (a)

(b)

OS 9048

‘Advertising is indispensable for sellers, buyers and the society.” Describe the
functions served by advertisements and its benefits to buyers, sellers and the

society.
OR

Your firm is going to introduce a new product in the market. What pricing

strategies you will consider for pricing this products ?

What are the factors that you will consider while fixing price of your products ?

Explain. (Scores : 8)

10



25. (a)

(b)
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PART - A
ACCOUNTING
(Maximum Scores : 40)

Answer all questions from 1 to 5, each carries 1 Score.
1. Inthe absence of an agreement, profit or loss should be shared by partners
(a) Equally
(b) Capital Ratio
(c) Drawings Ratio
(d) Decided by the Court

2. Change in profit sharing ratio among existing partners results in
(a) Reconstitution of a firm
(b) Dissolution of a firm
(c) Closure of business
(d) All of these

3. On admission of a partner, the ‘General Reserve’ in Balance Sheet is shared by partners
in

(a) Sacrificing Ratio
(b) New Ratio

(c) Old Ratio

(d) Capital Ratio

4.  Amal, Babu and Cini were partners in a firm with profit sharing ratio of 3 : 2 : 1. Amal
decided to retire from the firm. What would be the new profit sharing ratio, in the
absence of any agreement ?

(@ 2:1
(b) 3:2
(c) 3:1
d 1:1

5. The maximum amount of capital that can be raised by a company, through the issue of
shares

(a) Issued capital

(b) Subscribed capital
(c) Paid up capital

(d) Authorised capital

OS 9049 2



PART - A
ACCOUNTING
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10.

11.

12.

13.

14.

15.

Answer any 3 questions from 6 to 9, each carries 2 Scores.

List out any four items usually credited in a Partner’s Capital Account.

What is ‘Realisation Account’ ?

Amal Ltd. issued 12% Debentures of I 80,000. These debentures are issued at par and
its amount was collected in lump-sum. Pass journal entries for the debenture issue.

List out any four conditions of issue and redemption of debentures by a company.

Answer all questions from 10 to 12, each carries 3 Scores.

Mr. Rajan withdraws from his firm ¥ 1,500 at the middle of every month for personal
purposes. Interest is charged on drawings @ 10% p.a. Calculate the interest on
drawings for the year.

Arun and Babu are partners in a firm, sharing profits in the ratio of 3 : 2. They admit
Rafi for 1/6 share in profits. Calculate the new profit sharing ratio.

Sunflower Ltd. issued 4,000, 10% debentures of I 100 each, redeemable after ‘8’ years
at par. Pass journal entries in the books of the company on issue and redemption of the
debentures.

Answer all questions from 13 to 15, each carries 4 Scores.

Anwar, Balu and Hima were equal partners in a firm. At the time of Balu’s retirement,
the Balance Sheet shows General Reserve of ¥ 18,000 and Accumulated Loss of
% 6,000. Pass journal entries to adjust these items in the books of the firm.

List out any four situations in which a Court may order dissolution of a partnership firm.

Write short-notes on :

(a) Over subscription

(b) Calls in Arrears
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2 capod afloo.

6. &0 al»OElEs MEILM GRADVIEIGS HBWIY O2IQYIN aBO®EIR MOR
EDMEIBUD af)PYDB>.

7. ‘0lesrIcaLHd GRADVENE’ af)aNI6T ?

8. @oacd eflalgaw, 80,000 ©plwies 12% »Sa|@eBUB aloeals)alleemn). gal
malaflely’ Mendwl, @@ Bl LIEENG®o OalE). GRYAINIAIW CRAMT3
af)MB(SIDHUB af) )@,

9. 80} HMUTHS HSa|@EBURB HOMMDIM), @Idlajsallmmes moel alymiTy
FlENINLMBHUB 2 1SlBH6a|S)TT)H.

10 2)®@3 12 01900)8S af)£10 GaldBEBUIEN)o DOMONAN)®)d>. 3 caLIA all@o.

10. @2mM ®6a MLNoaINMETI@ MWl af)2J0 M0V AWIGTIES 1,500 @)1 allewo
QLIBHI0Y  BRYAUUDEIBUWIGCAIMEl  allddalellee)mm). (@Ioladate 10% mlossicd
aflidaleila] @SS alelvd HaMENIHN)D .

11.  @®@po}Emp, midenale 3 : 2 GRM OB alihosld800 MNIaIMEIIG3, 0dallow
1/6 e alladlmoe Mell 2086 |S)Em)aM}. a Y@ £I0€ @RM)ald®o MIBNIHe@.

12, avendagaid eflallgaw, 4,000, 10% &Sa|@emnud100 o)1 maiaileiQ aflehan). gnal 8’
QIBaHEBURBANCMaHo  Malailei) ®ean  @ildlajsaly MSEMAN).  HSa (@603
aj0ea]s)allemm@lond®e, @ldlajsal MSEMMBGIOB®e ¢RAIM@3 af)M(SIHU3
)Y

13 2)®@3 15 01900)BS af)L10 G213 EBUdEN)0 DOMOo af)P}@)dh. 4 GAVIA allo.

13. @pmaid, moel, oola agalaid ®ely aldoglegow milaflmquled alany mioey
afledlloeymm). M TLAGE  MIPLRIBAY  oHidl@d, 18,000 ©)Iwes HO)®@3
cUaIoal)p, 6,000 0)I1Wes allGlendm® Mayale Dne. snal (GAlEAleaMTIMss
GRAM@3 af)M(SIDHUB af)9)®)d.

14, 80) a1®0glom aUNdalMo @RSa)} al)5008 CHIST OE®OAI Mmenan  moel
V2202 IQLEIRUB af) LI

15, ereen &)dla | Q00089 :
(a) @EPWIG B2a00l @RCAIGH LIEIANGEI
(b)  @0ud @slydles
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Answer any one question from 16 and 17, each carries 8 Scores.

16. Following is the Balance Sheet of Appu and Baby, who share profits and losses equally :

Balance Sheet as on 31-03-2017

Liabilities 4 Assets 4
Creditors 54,000 | Cash in hand 30,000
Capital Accounts Debtors 60,000

Appu : 1,00,000 Stock 26,000
Baby : 60,000 1,60,000 | Furniture 48,000
Machinery 50,000

2,14,000 2,14,000

On that date, Gopi was admitted for 1/5 share in profits, with the following terms :
(a) Value of Machinery be reduced by 10%.

(b) Depreciate Furniture by X 3,000.

(¢) Stock is valued at ¥ 32,000.

(d) Create a provision for doubtful debts at 5% of debtors.

(e) The creditors be valued at I 48,000.

(f) Unrecorded investments of ¥ 9,000 to be taken into account.

Prepare the Revaluation Account on admission of Gopi.

17. Kanthi Ltd. issued 20,000 equity shares of ¥ 100 each to public, payable as :
e < 50 on application
e T30 on allotment
e T 20 on first and final call

All the shares were subscribed and amounts duly received. Pass journal entires for the

issue of shares in the company’s books.
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16.

17.
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16, 17 ¢a103e8381@3 SAVIM) 2@ QOMANAY)®)H>. 8 capId all@o.

@oa}}, centendl agyamlaid @yeymoed eoeo allalgiam milcfimqdlend sioeimay «dlg

®06% Melddlanam) :

Balance Sheet as on 31-03-2017

Liabilities 3 Assets 3
Creditors 54,000 | Cash in hand 30,000
Capital Accounts Debtors 60,000

Appu : 1,00,000 Stock 26,000
Baby : 60,000 1,60,000 | Furniture 48,000
Machinery 50,000

2,14,000 2,14,000

nI0LIBAV aHlg TGV, ¢l a@IW alogl@oe] 1/5 ene alladleoe meil

mlaleeamn). GO AILQITUNGUB GIOY al0W)o (AIGHOOAE) :

(@)  eanHlemdles alleidl@d 10% @00l ale)memo.

(b) andemla)olongd cmBom ealelai 3,000 ) Iwosm.

(©)  eqoeslond anmesie allel 32,000 o) iosm.

(d) SF009SOTIMBB HO®@ HAENiIEgYaVleng 5% moem.

(e) owulegymilon al®esi@ melyo 48,000 ©)n @6,

()  @MIF@B DUBOSITIMEBS TfledHalo 9,000 O)aI1OSD)6E.

¢ lW)OS (11EAIMANAODV] MITWEA|S B0} FIAIEIYHB BREHDENE GQINOBE)D .

20 eflalgaw, 100 o)1 myaiaflei@ss 20,000 MLOWOEM Boa0Gl®HUB Oald@)RM-

OBUBHS MINY al10W)IM @RS MIBEZUICDINISIBIS] NOBNAM] :
* 50 ©)al @REIHNCWINSIa]o

* 30 @)l alsrlg) MENEMINGD

e 20 o)l aflgl @osal

MM Boa0BlBHBlo HAIDNRMEBUB ARG, DIAUM @BV GHAUMINHS
eIEl89)HW)o Hal). B30a0d] EDSaINS)IHBIOS CRABIM DI af)B(SIHUB af) ).



PART -B
ANALYSIS OF FINANCIAL STATEMENTS
(Maximum Scores : 40)
Answer all questions from 1 to 3, each carries one Score.

Comparing sales of an enterprise with that of similar enterprise during a given period is

an example of

(a) Inter firm analysis
(b) Intra firm analysis
(c) Trend analysis

(d) All of these

Which of the following way of expressing the financial ratios is correct ?
(@ 2:1

(b) 2 times

(c) 200%

(d) All of these

Give the formula for calculating the ‘Net Working Capital’ of a business.

Answer any 2 questions from 4 to 6, each carries 2 Scores.

Name any two financial statements prepared by a company at the end of every

accounting period.

Explain any two limitations of Fund Flow Statements.

Give two examples of Cash inflow from the investing activities.

Answer the following question, which carries 3 Scores.

List out any three items coming under the head ‘Miscellaneous Expenditure’ in the

Balance Sheet of a company.
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PART - B
ANALYSIS OF FINANCIAL STATEMENTS
(Maximum Scores : 40)

1 2)®@3 3 01HQWISS af)L10 G103 EBUIEN)0 DOMOOAY)®)M. 30} GAVIAB all@o.

80} aunoalmoleom dlwmile @oei@zaiee! allgiaieal, GR@)EAIENSs aQ)
MO2AIMEIBBIES@ AW @OOMA Yo 62 1QING@ af)TIM DBIAOOEMAIEM ?

(a) aUDIAIMOIOM® AllUodLIMo

(b) @REI™MO20® allvodeiMo

(©) (MmO afltodelimo

(d) gpalewepmoem

@06 aloWMAIVIT WM@O0Y GRMIMEBUD (IMWAlBNIM R® dlalwosm

voal ?

(@ 2:1
(b) 2 enagl
(c) 200%

(d) ealeeoo
‘@0Q (1AIBTM MPIWMo’ BHeNB)a 1SIENM@IMBB VY@ AIODB o af)9ID)D.

4 2)®O@ 6 Q1OOWBS €2 10BEBSEIBE ABRO@BILN EOMEINOTIM DTDOOALI)D.
2 capod alloo.

80} SMUM] GQYOVICHNMNE aBOMESILN0 P6MNE AUIBaH]B MVIMUDTHIB COGRIOS Cald
af) 9} N>,

aDENE Ca GO CAUQIONMNDHROS aBO@ BRI 0NE alBIA @30 llvoBladlve)d.

mleatal (@IURGMEBSIG3 MIMMAMBB WM @RHNAMATHIM QNS DBIAOOEMNEIBUD
af) ).
®96% HDHIS)OTIAIHN)AN GaldBITTBIM ONMONAY))M. 3 caIA@ all@o.

830} HMUMWOS LIV oHIGIGd ‘dlaverIrlOaV af)®aUeIBWIa)d” ag)am

BlBaHRHODN @B DUBO|S)TDAN aBO@EILI0 MYAN EHMETBUB af) F)O)D>.
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Answer all questions from 8 to 10, each carries 4 Scores.

8.  Prepare a Common Size Balance Sheet for the period 2016-17, from the given details :

° Share Capital - % 1,50,000
° Current Liabilities — I 50,000
e  Fixed Assets - % 1,20,000
° Current Assets - ¥ 80,000

9.  Explain any two ‘Profitability Ratios’, used to measure the overall performance of a

business, by specifying the formula for calculation.

10. Classify the following items as ‘Sources of Funds’ and ‘Uses of Funds’ of a business.
(a) Fund from operations
(b) Acquisition of Fixed Assets
(c) Sale of Fixed Assets
(d) Raising long-term loans
(e) Repayment of long-term loans
(f) Issue of equity shares
(g) Redemption of debentures

(h) Losses from operations

Answer the questions 11 and 12, each carries 5 Scores.

11. What are Financial Ratios ? Explain the four major groups of such ratios.
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8 2)®@3 10 0160W)HS3 af)EI0 Ga10BIEIBUWBAN )0 DAMONAL))d. 4 GAVIA all@o.

. melloiges allaleasglad amlanye -17 80) ¢o06M HOAVAV ENIDLIABIY
8 efloig) 1 a3 adlanye 2016-17 80) o ) MBav’ oHlg

@QROOBND

° 80200l MEIWMo — 1,50,000 @)al
° (@OV[B0e] NIOW®HUWB  — 50,000 ©)al

. audlo @RyMlaud — 1,20,000 @)l
e ©®oeiaoels e’ — 80,000 o)l

9. aBO@BILN AENE LINEAUA®O GRMA DMIBOSHNla], GROIDOS ALYV ME]

aflvodle@len)d.

10.  meldialenam Hmeaneg ‘anee poallsaneagan)’, ‘anme allmleconanagan)’
Q0 @Bl2] alSldH61a |SIOT)M.
(a) (BTN an6eNE’
(b) audle GrMIae:ud anarle®
(c) audle ermla:ud algo
(d) dlBeeis0el AI0QBUB af)S)OTNG
(e) dlBraisoel AQGHROS Gldlajsal
(f)  LOWIEEM BoaOABIBUB a )06 |S)ll @
(g) DSo|@ang)es Gldlajsal

(h)  (a1IBGM®M Mayo

11, 12 ¢a108 608301389 QOMOOAL)®). 5 ¢aYIAQ afloo.

1. WOMH00y BRMIOMEBBURB af)IMOMT o) ? NAIWIOS MOEI (@IWIM QllRIVEIBU3

aRO®LJ060aN alvodldlHe)H.
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12.

From the following Balance Sheet of Sundas Ltd., prepare a ‘Schedule of Changes in

Working Capital’.
Balance Sheet
Liabilities 31-03-2016 | 31-03-2017 | Assets 31-03-2016 | 31-03-2017
Share Capital 1,00,000 1,50,000 | Cash 10,000 7,000
Bank Loan 25,000 — | Debtors 30,000 50,000
Creditors 40,000 44,000 | Stock 35,000 25,000
Machinery 25,000 12,000
Land and
Buildings 65,000 1,00,000
1,65,000 1,94,000 1,65,000 1,94,000
Answer any one question from 13 and 14, each carries 8 Scores.
13. The Balance Sheet information of Shija Ltd. is given below :
Liabilities 4 Assets 4
(a) Share Holders Fund : (a) Fixed Assets :
(1)  Share Capital 4,00,000 (1) Buildings 4,00,000
(i1)) Reserves and Surplus| 1,00,000 (i) Fixed deposits | 1,00,000
(b) Long-term Liabilities 1,50,000 | (b) Current Assets 2,00,000
(c) Current Liabilities 50,000
7,00,000 7,00,000
Calculate the following ratios from the above information :
(a) Debt-Equity Ratio
(b) Total Assets to Debt Ratio
(c) Proprietary Ratio
(d) Current Ratio
OS 9049 12



12.

avymoav elldllgaslend @aridlesiam meinday «dlglad alan)e ‘@IaIdamm aeiwm-

O3 20Qo HOEMIBNIM alFld’ DYI00EN)D>.

Balance Sheet

Liabilities 31-03-2016 | 31-03-2017 | Assets 31-03-2016 | 31-03-2017
Share Capital 1,00,000 1,50,000 | Cash 10,000 7,000
Bank Loan 25,000 — | Debtors 30,000 50,000
Creditors 40,000 44,000 | Stock 35,000 25,000
Machinery 25,000 12,000

Land and
Buildings 65,000 1,00,000
1,65,000 1,94,000 1,65,000 1,94,000

13, 14 ¢a103 683813 SaNIM) 20(@o QTMOOAY)®)M. 8 GaYIAd afloo.

13, eocuz eflalgavlon enioeicdav «dlgloel allalosnud @oey melloildlesam) :
NIDW @B Ud Q)al @YY 0D Q)al
(a) B0a0ClWSNBHB)OS aN6NE : (@) audlo @RMABUB :
(i) 80200l Mme1wmo 4,00,000 (1) enfBaloviay 4,00,000
(i) olavdg] & avdglav” | 1,00,000 (i1) audlo dleatalsonydd| 1,00,000
(b) dl@eeidoel mwi®B | 1,50,000 | (b) @oauiaoer @ryaile:dd | 2,00,000
(€) (@OAVIBHIL! NIDWIDDHUD 50,000
GRYO > 7,00,000 7,00,000
melloigies allaiesmsgled mlanie, 06 a10@)IM @M} ld®eI3d MBNVILe® :
(a) QIQYI-630a0a]l @RMYAIdB0
(b)  @RMI-a10Q @BRM)aI0®o
(c) 9SATVODI BPM)aId®o
(d) mSa|@RMIRI0G0
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14. Calculate cash flow from operating activities for the year ended 31-3-2017, from the
given details :

4
Cash Sales 30,000
Credit Sales 12,000
Debtors 1-4-2016 8,000
Debtors 31-3-2017 5,000
Commission received 9,000
Cash Purchases 6,000
Payment to Creditors 15,000
Salary paid 9,000
Rent paid 7,000
Tax paid 6,000

(Hint : Calculate the receipts from debtors during the year as working notes.)
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14, mel@ldlenmm allvrdewsmsled mlan)e, 31-3-2017 @3 @eaIqLoailenam AIGaHe®D

nilalmav’ (e 1018emmeBgElad MIaM)8S aleMOBOM B9800 deTe)allSlon)d :

@)al
VIR0 aleMAMIMB: aflejm 30,000
HSOIMBS aflejm 12,000
eawsnicgeay’ — 1-4-2016 8,000
eaeniegyav’ — 31-3-2017 5,000
BB Sl 9,000
QIHN aleMATHIMBS Q1I6313G3 6,000
o@ilegemilm melleoy 15,000
MIgo M@oY 9,000
Q10SH MeloG 7,000
M) @RS 6,000

(V)21 : BaweIEgYaUlEs Mlaml GM® AlBaHo LIEla] @) (IC®Yho HEMANIBHEM-.)
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PART -1

ACCOUNTING (Maximum Scores : 40)

1. A partners salary is to Profit & Loss Appropriation account. (Score : 1)
(a) Debited
(b) Credited

(c) None of these

2. Issue of shares at a price higher than its face value is called issue of shares at

(Score : 1)
(a) Discount
(b) Par
(c) Premium
3. Ondissolution of a firm are paid first. (Score : 1)
(a) third parties
(b) partners
(c) None of these
4.  Deceased partners legal representatives loan account is shown on side of
Balance Sheet. (Score: 1)

OS 9050 2



PART -1

ACCOUNTING (Maximum Scores : 40)

. 80) an08lwes vmise @LoJocm”Ig“ & czenoqgg @RG(EII(NCWAHM BRBNVNEITI

£21QQ))aM). (eapod : 1)

(a) ewenily
(b) ey

(c) gpaleomMAL)

2. 0au0ia@)es allejm mal aleicwadd 9B alleIIAIMEIT3 HaHWO)HUD

allejm MSET @IV HEaMENIBNAN). (eapod : 1)
(a) aWlaveeverelod
(b) ‘ai0@’ allei@d

(c) (Naloomad

3. a1®08le1m AUNdalMo ‘AWlOTVOLINAHIE’ alQEMIIWB @RYBY — NIOBLYMGHUD
@ BBeaM). (eapod : 1)
(@) cMBW alodgle:8)05
(b) aIBO8l®8)0S

(c) gpaleomMAL)

4. 20eMa|S alBOEHBOS GOMADOIOUBRIUTDBBIOS CLIOED GRADVEMNE NIOLITBAV

aHldlend QBT GH06MI1H6)IM). (capod : 1)
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5. Increase in the value of asset is credited to account. (Score : 1)

6. In case debentures are issued at par and repayable at premium, then the premium

payable will be to Loss on Issue of Debentures account. (Score: 1)
(a) Credited

(b) Debited

(c) Both
7. Dissolution expenses are shown on the debit side of account. (Score : 1)
8. Share of goodwill brought in by new partner is shared in ratio by old
partners. (Score : 1)

9.  On I* Jan, 2017 Manohar Co. Ltd. issued 40,000, 8% Debentures of ¥ 100 each
at ¥ 105, but redeemable after 5 years at par. Pass journal entries on issue and

redemption. (Scores : 2)

10. Write journal entries for purchase of assets and its payment in debentures at par to

vendors. (Scores : 2)
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5. cpmilag)es aplomlcenss a1da) @RIODMEIGS O(HAIQ ealgyan).

(eapod : 1)

6. DSal@EBB ‘ald@ afleiy’ mauy e21Q Eldloowlad dldes menemiowd,
0305)e89M8 (aloll@o cRIOqY 6306M8 haHy) Boal AlNICE I GRAHDENEIG3

e21QQ)aM). (eapod : 1)

(a) ow@lg

(b)  eavenily
(c) oee)p
7. aleauorleHad o 1e101)@:03 @RADVMEID NG QIVOEID B:0eM1Be)aM).
(eapod : 1)
8.  an@l@ aldogl a@0ene)Io)m wywailod GOGAH W@ 219 alB08E>03
afl@lesymm,. (eapod : 1)

9.  2@EMIa0AB SHauUMI eﬂm1gcw”amgm«ﬂ 1, 2017-@3 40,000, 8% aullenieri0)dud 100 @)al
Me1mBn® 105 0l gDaUY 2 1QHAN). aldGHH 5 AIBHOTIMEUHo ‘a0’ afleiwiad

BB MEo. DaHYANERVIo GlWonHERW)o CRABIM@3 ag)MB(SIHUB af)P)®)d>.

(capodav’ : 2)

10.  ea1ened@20a@l@d Mlame @RIYIBHU3 dSo A1B)IMBICB®o ald:Oo dbSa|(@6BUd ‘aldd’

afle1oled mena@ilong ¢2286mM@3 af)aB(SIHUB af) L)@ (capodav’ : 2)
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11. The capital account of Madhu shows a balance of X 3,00,000 on 1-1-2016. He brings an
additional capital of X 2,00,000 on 1-5-2016 and X 1,00,000 on 1-7-2016. Interest on
capital is allowed at 5% per annum. Assuming that the accounting year ends on

31 December every year, calculate interest on capital. (Scores : 4)

12. ‘A’ and ‘B’ are partners who share profits equally. Their Balance Sheet shows the

following items on assets side as on 31-3-2016. (Scores : 4)
Debtors Z30,000
Stock Z45,000
Land % 75,000

On that date, they admitted ‘C’ for 1/5 share and the assets were revalued as

under :

(a) Land is revalued at ¥ 1,00,000.

(b) Stock at 10% less than book value.

(c) Debtors be provided X 2,500 for doubtful debts.

Prepare revaluation account on admission.
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1. awplleoad &Paflgmd @reevenElad 1-1-2016 @3 3,00,000 o)l@ene. @REGa0o
1-5-2016 @3 2,00,000 ©)l@), 1-7-2016 @3 1,00,000 0l @RWIEG: MEIWMo
OBRQIO)M).  MEIWMOTIECAT 5% aleflvo M) @EREPVMELY alBaHo
aWlavesni@ 31-m) @RAITLIMIEIAM] ad)IN AVBL{laJOd06NE, dhidaflgelecm@d aleilo

BEMNBNOHN) . (capodav’ : 4)

12. ‘A’ @p ‘B’ @)p ®ely al@oglagosm. 31-3-2016 oe1 @ralo)es mideladay «Hgles

@06 al0WIAM BRHMUIHUB HOEMIAM) : (capodav’ : 4)
oawegeay’  — 30,000 @)l
CAVODS) — 45,000 ©)al
enad — 75,000 @)al

@ec® Alaiavo, ‘C’ o 1/5 GRMIGOTIE alBHOSIWONDHW)o @IOY al0W)o

(213000 @RAYIBHUB Glaloely ealgyan) :

(a) eplwes anmdmely midsno aflel 1,00,000 oal.

(b)  eqYoes Mmiee aeIRallcmeeud10% @)0ailas.

(c)  eawegeailcmas 2,500 O)at WHFaN)UB HAY BRI HOY®).

@RAZAAHB TLAOBD GlAIEIYEAIAHTT GRANDENE QOVOLN)E:.
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13. Mini, Niji and Omana are partners sharing profits in the ratio 2:2:1. Their Balance

Sheet shows the following details on 31-12-2016. (Scores : 6)
General Reserve Z6,000
Capitals :

Mini X20,000

Niji %16,000

Omana % 14,000

Omana died on 1-2-2017. Her legal hiers are entitled for the following :

(a) Her capital balance on date of death.

(b) Her share of profit till the date of death calculated on previous years profit
% 7,500.

(c) Her share of goodwill estimated as X 8,000.

(d) Her share of general reserve.

Prepare Omana’s Capital account.

14.  Write 3 differences for each of the following : (Scores : 6)

(a) Revaluation account & Realisation account.

(b) Dissolution of partnership & Dissolution of firm.

OS 9050 8



13. 2:2:1 o) @RMaIO®@WI@  £10E0 al8»)QIEaM olnl, ok, 80am  ag)avil

ald0glo@es 31-12-2016 ol mIorIndav osHIGIE3 @6y al0WIAMAl B:06m)aM) :

(capodav’ : 6)

2mM0@3 dlavdq] 6,000 @)al
DY0aflgms :
ol 20,000 @)al
mleA 16,000 @)al
lelilep) 14,000 @)a

1-2-2017-@3 602m 2a@lHN)aN). GRAICIOS GRMANOIAUBIUTIBHUBAEE @IOY alOWIANAI

e1Eloa)o :
(a) @PAIOeS 20sM AlAITVETIT &§0q @3 GRANVENEILNSBS @)

(b) oYlaom aIBaue £10e20® 7,500 0)idlcmamd aoem Glaiave AIHOWSS

@RAIO®S £19& Afladl®o.
(c) @RS VWalad afladlmaow 8,000 @)al.
(d) =2moad dlavdqfleel @RAIEYHS alladl®o.

BOAMW)OS B 0o {lIgE8 EREHDENE YOOI .

14, ®96)¢ a10@)MaII®S 3 ay®PaL6BUB Qllo af)9)m)d: : (capodav’ : 6)
(@) AlaeINeUId GREHVEMNE) JIRAHLICTVAHIZ BRAHVENR)o.

(b)  aWloavoeIPeHmd B2l al0@5eMBaHla|jo AWIOHTVILIYHTD BOan GanR)o.
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15. ‘X’ Ltd. issued 80,000 equity shares of T 100 each payable as follows : (Scores : 8)

On application T30
On allotment %20
On first call %25
On second call X 25

The shares were fully subscribed. All money were duly received except one share-
holder holding 800 shares failed to pay first call and second call money and another
shareholder failed to pay second call money on 200 shares. Pass journal entries in the

books of the company.

OR

Casino Ltd. issued 20,000 equity shares of X 10 each payable as follows : (Scores : 8)

% 30 on application.

2 30 on allotment.

2 20 on first call.

2 20 on second call.

Applications were received for 30,000 shares and the directors decided to make pro-rata
allotment. Pass journal entries assuming that all money were duly received except

second call money on 100 shares.

OS 9050 10



15. X eflalgaw’” 80,000 gl ©ar@o)d»ud 100 o)l :meiy@dI@3 gy ealQ)am).

®IOY 2l0W)o (21HOB0 alsMo MEIeMo : (@q‘}))oéqv' : 8)
@) [16H9HB TLAGIDY 30 @al
@RELIISHANG MVAWOTDY 20 @)al
60No GHOUB LAV DD 25 @)al
Q8N800 CBHIUB TLADIT 25 Q)al

a0 OAUWO)BHBlo  AVMITUOODMNT  ©alQYealS). afLld  aleMAlle  TLAVGITY
e1élajjpaisslelo 800 6HaHWO)RB)8B B0) HaHWA GaOUBALA 630N BNBYJe CdHIB)KHUd
2590 QOO 200 HaHVO)BB 16QI0) HEHWA CaOIUBWAR MENMBIC CHIUB MSIeo

AU, HMUTIWOS CoaRSIOR! GRAM®MI af)ad(S! af) YO

mo%mﬂ«ss

somdlemo eflallgaw’ 20,000 gndpgl OeH@O)RUB 10 0)a I haHY) H21QYAN). @Y

al0®]o (13000 aleMo MEIEMo : (capodav’ : 8)
30 @)al @REAIGHMI TLADTT

30 @)al GRERINSHAF TLAWDIDY

20 @)al BaNIo CBHOUB TLAXDITY

20 @)l @8MBIo GHOUd TLAWDITY

30,000 ©c1@O)DHUBHS @RCalGH LIEIGNDHW CGRIIECOQ0 GRELISHNAT MSOEHI3
WO0HAR08 GF0)AMH9)BH@)o H210). 100 HeH@OlC™®@S ©eNEI0 EHOUB Meml B3¥la]

eNI0B6H aleMo MLAT®) L1Ela)) o) TVBE{la] CGRAEM @ af)MB(SIBHUB af)OITND:.
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PART —-1I

COMPUTERISED ACCOUNTING (Maximum Scores : 20)

In tally, voucher type is used to record sales return.

(a) Credit note (b) Debit note (c) Sales

is a security measure available in computerised accounting system.

Write any 2 advantages of computerised accounting.

Give the cell address in MS Excel.

(a) Cell at 5" column, 6™ row.

(b) Cell at 3 column, 11" row.

Identify 2 differences between manual accounting and computerised accounting.

You are asked to prepare pay-roll statement of your company in MS Excel.
(a) How will you open a new work sheet ?

(b) How will you save that work sheet ?

Write short note on Tally F11 features and F12 configuration.

Five figures are entered in cell A1, A2, A3, A4 and A5 in MS Excel.

(a) How will you find sum of these figures using a function ?

(b) How will you find average of all these figures using a function ?

OS 9050 12
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(Scores :
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PART - 1I

COMPUTERISED ACCOUNTING (Maximum Scores : 20)

s0eilolad HVRIGAY” Alegamav HOEHNABA 61213 QM2 DalCIUlENM),.

(@)  ewuilgemog (b)  ewenilg'emog () erl@ry (eapod :

)M HAUYSHHOAVLAL @REDVENEloU) (TU']((T)’I(;@TGﬂQEI 630) VIOMMO

Q0MBEMLAJE. (eapod :
HMUPFOOHOTVA BRADVMElLUIHAY B6NBY NEMEIBUB af) ). (capod :
MS Excel-0e1 oau@8 @Y af) )] (eapodav’ :

(a) 5-0060D CHOBo, H-0QHDB) GO

(b) 3-0060 €080, 11-00607 OO

v

Manual  @REODMELW)  HMIYFONOAVA  GREOVEELW}  @alenss  mam

QI OAVEDBUD af) OYD)M. (capodav” :

mlengles HmInloleoel cal 0B eaugepaad MS Excel-68 @@o00s90a8 @ryalvoy-
Oa|SlAloeeam). (eapodav’ :
(@)  a)EBOM B0} )T Q1BBHHIQ @00 ?

(b) @R AIBBPHIQ MIEBUD ag)EIBOM CIVAT alYlo ?

soefldleel FI1  aflegjsmilomandlaje F12  @emBatlneoatomanolaje el1ael

aflaioemo ag)91®)d. (capodav” :

@D TVoRIIBHUD af)o.af)TU. af)dbavell@d Al, A2, A3, A4, AS agal eave)oelcd
a)BA ealgyaM). (capodav’ :
(a) DY MVLAIIBBINS BIRYAIB> @)D ANoWAHB DalCIW | af)BBOM BH6mM)o ?

(b) DY MVeAIBGBIOS VDBIUNG] ANoWIHMB DalCIUla] af)IBEOM Brd6MYo ?
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9.  Identify voucher type and voucher key in Tally for following transactions :

(a)
(b)
(©)
(d)
(e)

Capital introduced to start business.

Purchased furniture from R.K. Ltd. on credit.

Deposited in SBI account.

Sold goods on credit to Manju Traders.

Rent outstanding.

OR

(Scores : 5)

Mahesh created the following ledger accounts in Tally under given account groups.

Help him to identify correct pairs.

NO. | LEDGER ACCOUNTS ACCOUNT GROUPS
(a) Furniture Fixed Assets
(b) Outstanding rent Current Liability
(©) Drawings Capital account
(d) Bank charges Indirect expenses
(e) Return outwards Sales account
6y} SBT Current account Sundry Debtors
(2) Sales Sales account
(h) Wages Indirect expenses
OS 9050 14
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9.  ©26% HEMIN (SOMAVIBHHMBHUWBSH SOLNVIEE AIVaB 66Salo AV HldB)o
BHEENRBOIMND : (capodav’ : 5)
(a)  @eIwmo oMM laimQY @RoEl ).
(b) @RAE.0%. ellalgasied Alan @sa0©l andemla)d aloerl.
(€) agau.enil.eag). GREOVMEIDS MledHalla)).
(d) @ EscWYTIm) &Hsa0@l ALOWMEBUE allg).
(€) QIOSH OBHIS)BNOM)ENE.
@ROLIESE3
ACaOH @I HOFM)o(a 1000 SOLNWI@ GRANVENE (N NHROS HYITS HrIeRAd

@RANVENEYDHUD  DENBISH].  VAIWIW  GRIWIBHUB  HOTBTIMIMWB  GREGaOODTD

Va0 BN B>. (capodav’ : 5)
NO | LEDGER ACCOUNTS ACCOUNT GROUPS
(a) | Furniture Fixed Assets
(b) | Outstanding rent Current Liability
(¢c) | Drawings Capital account
(d) | Bank charges Indirect expenses
(e) | Return outwards Sales account
(f) | SBT Current account Sundry Debtors
(g) | Sales Sales account
(h) | Wages Indirect expenses

OS 9050 15
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COMPUTER APPLICATION (HUMANITIES)
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/ General Instructions to Candidates : \
® There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.
® You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.
Use the ‘cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.
All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the same
question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

mldeguosomad :

* 1ddlay MVA@GOIM aljoea 15 AlMlg ‘@B Ba0 66Se” DMEIVIBIBN)0. D
TLAWVOT G2 10BYEIBUBHE DOMo af)HIMIEMO, AQBBOI0)AOWV] @GRV allMlawo
MSTIEMO aldsle].

®  DTMODBUB af)PYEOM@IM MM CalOBYEIBUD UPBLIAIBYo AWM.,
®  af)LJO GalOBIEIRUIGN ) DNV af)$IDEMo.

® 30} CaldBIMMIA DTMOHALIGOM HDOOENNSIVD) BHYIETTMOBI D lGa l0BLETRS)o
@RE® G108} MMUAIE3 MIAN ®OAN HDGHETINSICHNENRBMIE.

®  BHEMAS BHSENDUB, al(@BBUB, NaN)HUB, ag)amilal Qmwem%cﬂ@% @®eaM
MRV BlEOMo.

®  @RAINDIMBS MLOLIBIT MVAQIIBIETBUB HB0SIBNEMo.

®  Gal0BEEBUY DRIVOBOTIRN MElwig)me.

® CWIMBDUD  BalPIMIBOIAD  HOTINCLIQO)HUB  BYlOHWBR  B0)
K EDRIHE(SIEMD Daldh0mAalo alBldIa00S]@3 DalCIUIIBN)NINM aldSIEl.

OS 9051 1 P.T.O.



The collection of web pages Internet is called (Score
(a) Home page (b) Website

(c) Browser (d) Search Engine

Different readymade formats available in PageMaker for creating documents are

called . (Score

An environment that provides you to purchase and sell product or services through

internet is known as . (Score
(a) Portal (b) Auction

(¢) e-Commerce (d) Website

The rules and conventions in a network is called (Score
(a) Modem (b) Protocol

(c) Bandwidth (d) Noise

The SQL command to remove a record from a table is . (Score

Name a technique widely accepted for authentication of parties involved in

e-Commerce transactions is (Score
(a) Digital signature (b) Shopping cart
(c) Encryption (d) Privacy

OS 9051 2

: 1)

: 1)

: 1)

: 1)

: 1)

: 1)



l.  epaddemglad QUM CalR)DHBIOS B)FOT AfSleN)M@ (eapod : 1)
(a) Ga0%oGaI (b) eammivecvy

(¢) (EumaVad (d) eavABaj ag)adedlad

2. cawosnenad ml@amosmamlmo] PageMaker ¢a00a0SHOIQCI@ LI AIWIG )85

HOWIHAQW EGaNIBAIQ)HHUB o) MOl |S)aM). (eapod : 1)

3. alel ®0o AIqEegie MLAATINVE:E) 01061BOM)e Afle oMo MVat@lBsaM HABOMY

LD B0 DI a) MOl |S)aM). (eapod : 1)
(a) Galodgm3 (b) &0BHaHd
() -ed0ca9IV (d) eaimipeavy

4. 80)omgaidasioel Nlasnag®)e MlMIMWM$e8®@)e Algleesa|S)am@  (¢apod : 1)
(a) e@dwo (b) ©©I0650CHHOUD

(¢) enoamdawaillaw (d) ecmoiay

5. esenflglad alane e0cHnIBWIBHUB Miledo 621N SQL &aoadaw’

@Y. (eapod : 1)

6. MBOMGIOL! D-OBHICAYAV DS l0S)HEIE QlYGIBHOS @@l |GlET CWIWNI®

MENAN AVOECBON D CIDNWVOS Cald’ (capod : 1)
(a) adlelgmd avleunayd (b)  cauoaflow) ®08g
(©) agBDlaiauad (d) e6@Iaimi
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10.

11.

12.

13.

14.

Full form of DNS is . (Score

A platform independent programming language is (Score
(a) Visual Basic (b) Java

(c) ASP (d) PageMaker

Which of the following is an empty tag ? (Score
(a) <BODY> (b) <TITLE>

(c) <HR> (d) <HTML>

The number of columns in a table is called X (Score
Differentiate Serial and Parallel data communication. (Scores

Write and briefly explain any two fact-finding techniques in System Development

Life Cycle. (Scores

Write HTML statement to display the following output :

A2+ B2 (Scores

Write advantages of DTP over traditional methods of publishing. (Scores

OS 9051 4

: 1)
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: 1)
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10.

11.

12.

13.

14.
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DNS-68 alj@6m @)alo @1Y)aM). (capod

aB®) 9J0gQCandaleno (IR EN)IN 60} G IoWIAlow) RIDCUIER (capod
(a) Visual Basic (b) Java

(c) ASP (d) PageMaker

@069 ®AGlE9AMAIRIEB aB@OEM af)oaigl SOV ? (capod
(a) <BODY> (b) <TITLE>

(c) <HR> (d) <HTML>

30) csnilslor] CHo863810S a)SNOCTR a) MOl |S)aM). (capod

MlGl@3, aldERIGE o)l AWogd H2YaIEHHHM CTNHBOS AY® PV

) FJ D> (capodav :

mlaue  OAAIOLIIOAG ©6LIan HOHAVHIENG @RMIAIBAIENAN Qe aNdd’

06anMWlow) Bl@HHUB 21)0)08 AllaIGlHe)w. (capodav :

I6)¥ H6M)AM B3V5al)g LIElE9HIM @RIV HTML Q102160 af)91@)d :

A%+ B? (capoday’:

aloMIEIN® altR{latlow) BlBB:0806008 DTP @165 oA jenud allaidles)s.

(corpodav’:

: 1)

: 1)

0 1)

: 1)

0.



15.

16.

17.

18.

19.

20.

21.

22.

23.

Compare internal and external hyperlinking in webpage designing.

Briefly explain B2B and B2C models in e-Commerce.

What is meant by Kerning in DTP ?

Briefly explain the Union operation with syntax in relational algebra.

OR

Write the syntax of CREATE TABLE command in SQL.

What is abstraction in database ? Explain the three levels.

(Scores

(Scores

(Scores

(Scores

(Scores

(Scores

List the three aspects of feasibility study in System Development Life Cycle and

explain briefly.

Explain the three types of lists in HTML with corresponding tags.

OR

(Scores

(Scores

Write HTML statements to divide the browser window into two frames and display

the files as shown below :

50% 50%
School.html Address.html

OS 9051 6
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15. eaini’ caizz’ ml@amosmamlorl HEAddeM®@I, of)HesAM@ af)al  Oea0a|d

ellglow) Al@ia:u3 IR0 6121 b (capodav’: 2)
16. B2B, B2C ag)a7fl D-63:06290V AL U 21)0)06] AllQIGlHe)w. (corpodav’: 2)
17. DTP-0I@3 66B6mIeB af)anod3 ag)am ? (capodav’: 2)

18.  oleelnum@d @rudelEnidlon @M B2a|c0ard VISV TVasl®o a1)0)ds)
aflaiclee)d. (corpodav’: 2)
@ROLIE@3

19. SQL ee1 CREATE TABLE &2008w a3 aLaol@o af)9)@)d . (capodav’: 2)

20.  awogoesnIalerl m)am) Mo @RMITV(SHUM elalenddd alloidlen)s.  (capodav’: 3)

21, mam) ®oo adlavlmilelgl auasleud ago®eldo ? ajo)el alloidlend.  (eapodav : 3)

22. HTML-ee1 2)aMm) ®0o elguid8ios Caldo9)®)d. @R@IMIAINiN0® QOUnN)HUd
af) ) )B>. (corpodav’: 3)
@ROLIE1@3
23.  eumavd alldewoan® aaIdglencnel quaconaBso] @Idla] 8060 ennalens

630600 HAIMI GalZ AWlaueg] ealgpolomss HTML ¢qugoaad ag9)@)s. :  (capodav : 3)

50% 50%
School.html Address.html
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24. Explain the three types of communication Simplex, Half duplex and Full

duplex. (Scores : 3)

25. Write any three aggregate functions in SQL and explain their use. (Scores : 3)

26. Consider the following cases and suggest the suitable SQL commands with syntax or

example : (Scores : 3)

(a) To insert a new record into the table

(b) To make changes in the record in a table

(c) Toremove a table

27. Write and explain any three encryption techniques used in Web security. (Scores : 3)
28. Briefly explain the page formatting features of PageMaker software. (Scores : 3)
29. List and explain the various stages of System Development Life Cycle. (Scores : 5)

OS 9051 8



24, afloglday, afdah AROQIBAV, aMUB AYEQIHTV af)dl @00 H2YETICHNH-

MBHUB DOOMA Yo )21} . (corpodav’: 3)

25. SQL-ee1 ago@®mrlene Mman  @RWIEHQ  aloWeUMIBUWD  af)9)®]  DalCWOWo

QBN LN (capodav: 3)

26. 069 MEN@I@lEnM EHOAVIBHUWB AR08 @MW M0® SQL &Hadadaw’

af) 91N (crpodav’: 3)
(@) I H0CEHIBW CalBNMN@IM
(b)  ©0cHNIBUI@3 MQEBUB QAIBYTIHAN@I M

(c) esmilud Aflese 6219003

27.  eaimi’ @ CIGleNEAIINE]l DalcOWIENN BO@B:IEN M8} af)M(@laintdd

A @ >0B aflaIclBe)w. (corpodav’: 3)

28.  PageMaker 613 Gal22 ¢an0@20¢lot) QNlCLU®HUB 21)0)08] OlQIGlEe)w. (GaPIRAV : 3)

29.  adlgue dawalelainad eeelan aervasiglaad allallw ceigemndd allvodlsdles)s.
(capodav ' : 5)
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30. Write an HTML program to create the following table :

31. Briefly explain the following communication devices :

Class Strength

12 A 30 Boys 20 Girls

12B 25 Boys 25 Girls
OR

(Modem, Repeater, Bridge, Router, Gateway)

OS 9051

10

(Scores : 5)

(Scores : 5)



30.  ®oey melwldlanam eseild mldoalasym HTML program ag)$))s :  (¢apodav’: 5)

Class Strength

12 A 30 Boys 20 Girls

12B 25 Boys 25 Girls
@ROLIE@3

31, ®09% Mmelldlenam & eTIEHNaHB Dald:0eMEUd 21)0)88 QllaIdlee)e: :

(Modem, Repeater, Bridge, Router, Gateway)

OS 9051
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/ General Instructions to Candidates : \

e There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.

e You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.

e Use the ‘cool-off time’ to get familiar with questions and to plan your answers.

e Read questions carefully before answering.

e All questions are compulsory and only internal choice is allowed.

e When you select a question, all the sub-questions must be answered from the same
question itself.

e Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

e Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

mI3c3uoeBUd :

e Mddlay MVA@GOTM aljooa 15 AlMlg ‘@8 Ba0 66Se” DMEIVIBIBN)0. D
TLAWVOT G2 10BYEIBUBHE DOMo af)HIDIEMO, AQBBOI0)AOWV] @GRV allMlaws
MSTMIEMO aldsle].

*  DOMOIBUB af)PYOM@IM MM Cal0BYEIRUB UPRLIAIBYo AVWIBNEMo.

*  af)LJo GaldBIEIRUIGN ) DNV af)$IDEMo.

*  3B0) CalOBINMMIA DTMOHALITOMB HMAETNSIIN) HIETNIMTI D lGa 103 4EIBB)o
@RE® G210B) MMUAIE3 WM DOHAN HDGHETINSICHNEBMIE.

®  BHEMA BHSENDURB, al(@BBUB, NaN)HUB, ag)amilal Qmwem%cﬂ@% @®6aM
MRV BlEOMo.

*  GalOBEEBUY DRIVOOTIRN MElwig)me.
*  @RAIDMNS TLOLIGIY) TVANIIGYETBUB OBGIS)BNEMo.

*  CWIMBUD  HalQIMIBIOD  HOTIANCLIQO)HUB  BHlOHWEBR  B0)
K EDRIBESIEMD Daldh0emMAlo alBld:10a00H @3 Dalc@IUTl¥9)0I0M aldSle). /
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Full form of HTML is ) (Score

Visual Basic is a type of programming language. (Score
(a) Object Oriented (b) Event Driven

(c) Procedural (d) Modular

Which of the following is a Form method in Visual Basic ? (Score
(a) Load (b) Activate

(c) Show (d) WindowState

The attribute of <BODY> tag to provide a colour to the background is (Score
(a) Background (b) Color

(c) Backcolor (d) Bgcolor

Identify the name of data type in Visual Basic which can store any type of data. (Score

The person in-charge of designing and developing a system is (Score
(a) Programmer (b) System Manager
(c) System Analyst (d) Leader

OS 9052 2

: 1)

: 1)
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1. HTML-603 a)36D @}alo af)9)®)d. (eapod : 1)

2. aflaui@d ceniavle 630) 96Sa] GnIoWflol) RICEUIR BRI,  (¢aHOA : 1)
(a) eminrsQ B06laaw’ (b)  enaiad laiad
(©) Gr1oalawodd (d) c@oa)r1dd

3. ®0e% meldlclenmMaiad ag@oem allau|@8 canirilesionl Gande eacem ? (¢apod : 1)

(a) ceoWw (b) @r@lealy
(¢) Gaud (d) afladecawocauy
4. eniodnoerelm mloo menan <BODY> soulled @rySlenty)s ag@oem ? (eapod : 1)
(a) Background (b) Color
(c) Backcolor (d) Bgcolor

5. aB®) ®0o WIQWle MVfla@lee0md S aflaui@d eaimilasiaer awogo easaflead

Cal® DHOENBOIND:. ((sq_e)voé : 1)
6.  ailayo e&WAILIAIHAGOHE M$I0INE 2 NADE! AlaOlENIN QIYBDI GO ? (eapod : 1)

(a) Programmer (b) System Manager

(c) System Analyst (d) Leader

OS 9052 3 P.T.O.



7. The set of rules and conventions followed in a network

communication is known as

8. Records in a table are called

(a) Tuple

(c) Attribute

9.  The relational operation which displays records common to both the tables is

(a) Project

(c) Union

10. SQL command to remove a table is

(a) DELETE

(c) UPDATE

11. What is a Modem ? Write its function.

12. List any two aggregate functions in SQL and also write their use.

OS 9052

(b)

(d)

(b)

(d)

(b)

(d)

Degree

Cardinality

Select

Intersection

DROP

ALTER

for the smooth

(Score

(Score

(Score

(Score

(Scores

(Scores

: 1)

: 1)

: 1)

: 1)

:2)

:2)



7. emqaIdes  HPETICHNHI  TLIWIAOSNAN  TlAEBBY  TNIMLMBHSB)o

@Ol |S)aM Gal® @RYHIAM). ((sq_e)voé : 1)
8.  80)esmilglonl #0ea503)RHU3 BRAIWeA|SIAN® aB®) CaldlRIos ? (eapod : 1)

(a) Tuple (b) Degree

(c) Attribute (d) Cardinality

9. oee) csmiglori®p OaldmOIN® HOECHNIBWIBHUW (@ WITVEa 6alQan

6300 |GOHTD @Y (capod : 1)
(@)  o@IonRg (b)  eavelgy
(c) @Ml (d)  BAOALBAH

10.  80) esmilud aflaso eal1gpan SQL &a0m8an agg@osm ? (capod : 1)
(a) DELETE (b) DROP
(c) UPDATE (d) ALTER

11. e@0Wo af)aMI@3 af)0® ? DalCIWo af)aD) ? (crpodav’: 2)

12. SQL-9e1 ago®®ylelo 06me) GRUICU] aNoWaHM)BdG)o DalEGINAI0 alf)$)®)d.

(capodav’: 2)

OS 9052 5 P.T.O.



13.

14.

15.

16.

17.

18.

19.

20.

What is meant by primary key of a table ? Give an example of a primary key for the

student table with fields name, admission number, age, batch, score. (Scores

What is a script ? Write any two features of JavaScript language. (Scores

Briefly explain any two fact finding techniques in system development life cycle.

(Scores

Write HTML statement for dividing the browser window into two of equal size

vertically. (Scores

Which built-in function in Visual Basic is used for displaying a message ? Write a

statement to display a message “Happy New Year 2018”. (Scores

OR

Which built-in function in Visual Basic is used for accepting input data from the user ?

Write a statement to accept the mark of a student. (Scores
Differentiate between container tag and empty tag. Give each example. (Scores
How do we declare variables in Visual Basic ? Give an example. (Scores
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:2)

:2)

:2)

:2)

:2)

:2)

:2)

:3)



13.  98@Indl &l af)IMI@3 af)a®» ? name, admission number, age, batch, score ag)anfl

aflBW)B 03 988 esnilslec! a6Iadl &l ag®oidleno ? (crpodav’: 2)

14, @Jaiq )o@ af)am ? JavaScript £08 @6Ne) AVIEIQI NYEMEIBUB af) 9O .

(capodav: 2)

15, ailaue &awaILIe iDAAF ©6Llan §OTVIFIOL! aBO@BILN0 0NE) aNE HOaNMBAlow)

Q@3B 21)0)0601 QNG HO)H>. (capodav’: 2)

16. Euavd alldewio® ealdsleecind] aquacdneansdw]l  @ldlesan HTML

CALOOAAT ) P)®). (capodav': 2)

17, ag®) aflaui@3 cenIald: aNoleHB @R HAETLERNBHUD AWlaee] algpan® ? “Happy

New Year 2018” ag)am cqugoand allavtal 6a1Q)an aldaldo af)9)@)d.  (Gapodav : 2)
@ROLI@3

18, ag®) Qflaui@d eMITUlD aDoaHM @M WIq aUBAlENM®  ?  &0)

aflzpdolwes 20869 MVleG1Ee)aM Q%A ld:o agf)9I®))d. (corpodav’: 2)

19.  ®6MewmA S0U) af)onidl SOUY ag)aTilal AlaIGlee)d . DBIOVEMo af)P)®). (CAPIRAV : 2)

20.  aflaui@d conialosl@d caltl@enila)dnud AlGOa@ §21QHINE ag)siBOM ? DBIaOO6Mo
af) 91> (corpodav’: 3)
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21.

22.

23.

24.

25.

26.

27.

28.

Write the three types of list in HTML. Identify the tags needed for creating those lists.

(Scores
OR
Write HTML program to create the following list : (Scores
° Mouse
° Keyboard
° Scanner
Explain the three level of abstraction a database. (Scores

Three properties of TextBox control in Visual Basic are given below. Write the need

for these properties. (Scores

(PasswordChar, MultiLine, MaxLength)

Write the syntax of three looping statements in Visual Basic. (Scores

List the various stages of system development life cycle. (Scores

Compare the three data communication devices Bridge, Router and Gateway. (Scores

Write the need for column constraints while creating a table. List any four column

constraints you have studied. (Scores
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:3)

:3)

:3)

:3)

:3)

:3)

:3)

:3)



21. HTML-ee1 mam} @0 elguidslos Galoo9)m)d. @0@IMOQINIRN0® QoUn)dhud
af) 91O (corpodav’: 3)
@RELIBIG3
22. @0y meilaidlanam eilqy alldaalee)an HTML ¢ 1o af)9)m)d : (capodav’: 3)

° Mouse
° Keyboard

° Scanner

23, awogaoesImilerl 3)am) @o @RENITVSHHUB erlaleud allaidlead.  (capodav’: 3)

24,  aflay@d cenualesieel TextBox oeaerﬁcs(sogﬂac@ MM €100 |BS)HUB @069 m%”kx»”ldl-
BN : (capodav’: 3)
(PasswordChar, MultiLine, MaxLength)

SDAIWIOS DalGWOINO af)PI®).

25.  allayj@d csnimilosioel man) enafloss cqugoamdiases MIaGIU af))@ allaidlos)d.

(crpodav’: 3)

26.  adlquo eawalrlai®ag 9oLln0 HaTVSFISNM Allallw ~LISEBSIOS Cald af))M)d .

(corpodav’: 3)

27, Enilawe, 0)58, cngEal af)arl M)aM) AIQO GHIMYIMICHNEHUM Do ldHOEMEBROS

(IQIBBMMo DIODA o 612 1Y), (capodav: 3)

28.  esmilid MR22EN)EMIOUB CHIBo BHEMAV(SWIMBHBIOS  GBRYQAUUDIBHD af)9I®).

aBO®ILI0 MOLI) EHIBo BHMAV(SWIMIBBIOS CalHOP)®)B. (corpodav’: 3)
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29. Briefly explain the various types of communication media. (Scores : 5)

30. List and explain any five relational algebraic operations with example. (Scores : 5)
OR
31. The structure of a table is given below : (Scores : 5)
Empcode Integer Primary key
Empname Char(20) Not Null
Desig Char(10) (Manager, Clerk, Peon)
Salary Integer

Write SQL queries for the following :

(a) Create the above table and enter three sample records (Give table name as

employee).

(b) Display the details of all ‘Clerk’ employees.

(c) Display the details of employees with salary greater than 10000.

(d) Display the details of employees in the alphabetic order of names.
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29.  allallw ®oo & PeMIEaeaHad AlaslEe86e) ) AllaICles ). (capodav: 5)

30. ago@®rlene @R GleelcHeM@d @RWBENOENID: B0a|COaHMIBRINS CaloOW)O)

930a.006M MVa0I®o QflVdA]ld:G1Be). (capodav ' : 5)
@R LIH1G
31. 80 esmilglod misdald @6y meldlcloem; : (crpodav’: 5)
Empcode Integer Primary key
Empname Char(20) Not Null
Desig Char(10) (Manager, Clerk, Peon)
Salary Integer

@PMEWIRNIW SQL &0l Q1021601303 af)9)®))b :
(@) esmilid mldenilaf @R@ICEINs B)aM) MLOMAUB HOCHNIBAUIDHUB f)BA EalYd.
(b)  apeso Clerk’ af)otq joRlag8)05®)o HOECHNIBGW AWIMVE] 6a 1Y) .

() 10000 my m&E@3 vomigo LIEIGNIN f)LJ00I0SWIo aflalesnud wlaveg]

21D

(d)  agEPaIvESW)e AllaIEEBUS Cal@lOd GRHEOIANEM (GHATTIIGE AUITVE] 612 1Q)d:.
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